

$$m = n^a$$

$$(m \cdot n)^b = m^b \cdot n^b = (n^a)^b \cdot n^b = n^{ab} \cdot n^b = n^{ab+b} = m^1 \cdot n^b = (n^a)^1 \cdot n^b = n^{a+b} \cdot n^b = n^{2a+b}$$

$$2a+1 = b(a+b) \Rightarrow 2a+1 = b(a+1) \Rightarrow b \cdot \frac{2a+1}{a+1} = 2 - \frac{1}{a+1} \Rightarrow [b], [2 - \frac{1}{a+1}]$$

$$= 2 - [\frac{1}{a+1}], 2$$

$$\log \frac{1}{x} \neq 0 \Rightarrow x \neq 1$$

الف ۲

$$x^2 - x - 2 > 0 \Rightarrow (x-2)(x+1) > 0 \Rightarrow \frac{-1}{+} \frac{2}{-} \frac{+}{+} \Rightarrow x \in (-\infty, -1) \cup (2, +\infty) \text{ (1)}$$

$$\sqrt{x^2-1} + 1 \neq 0 \Rightarrow x \in \mathbb{R} \text{ (2)}$$

$$\text{(1) } \cap \text{(2) } \Rightarrow (-\infty, -1) \cup (2, +\infty)$$

$$x^2 - 1 \geq 0 \Rightarrow x^2 \geq 1 \Rightarrow x \in (-\infty, -1] \cup [1, +\infty) \text{ (3)}$$

$$\Rightarrow 2 \log_a a + \frac{1}{x} \log_a a = 2 \Rightarrow 2 \log_a a + \frac{1}{x} \frac{1}{\log_a a} = 2$$

$$\Rightarrow 4(\log_a a)^2 - 4 \log_a a + 1 \Rightarrow (2 \log_a a - 1)^2 = 0 \Rightarrow 2 \log_a a - 1 = 0$$

$$\Rightarrow 2 \log_a a = 1 \Rightarrow \log_a a^2 = 1 \Rightarrow a^2 = a = 1 \Rightarrow a = 1$$

لاغزق

$$\frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{(\log 9)^2 - 4(\log \frac{5}{4})(\log 5)}}{\log \frac{5}{4}} \quad \begin{matrix} \log 9, \log 4 = 1, 1 \\ \log 5, \log 2 = 0, 5 \\ \log \frac{5}{4} = \log 5 - \log 4 \end{matrix} \Rightarrow \frac{\sqrt{(1)^2 - 4(0,5)(0,5)}}{\log 5 - \log 4}$$

$$\begin{aligned}
 m &= \log_{\frac{1}{r}} \frac{1}{\lambda} = \frac{1}{r} \log_{\frac{1}{r}} \frac{1}{\lambda} = \frac{1}{r} (\log_{\frac{1}{r}} r + \log_{\frac{1}{r}} \frac{1}{r}) = \frac{1}{r} \left(\frac{1}{r} + \log_{\frac{1}{r}} \frac{1}{r} \right) = \frac{1}{r} + \frac{1}{r} \log_{\frac{1}{r}} \frac{1}{r} \\
 \Rightarrow \log_{\frac{1}{r}} \frac{1}{r} &= \frac{1}{r} m - \frac{1}{r} \quad \log_{\frac{1}{r}} \frac{1}{r} = \log_{\frac{1}{r}} \frac{1}{r} + \log_{\frac{1}{r}} \frac{r}{r} = \frac{1}{r} m - \frac{1}{r} + \log_{\frac{1}{r}} \frac{r}{r} - \log_{\frac{1}{r}} \frac{r}{r} \\
 \log_{\frac{1}{r}} \frac{r}{r} &= \frac{1}{r} \log_{\frac{1}{r}} \frac{r}{r} \Rightarrow \frac{1}{r} m - \frac{1}{r} + 1 - \frac{1}{r} \left(\frac{1}{r} m - \frac{1}{r} \right) = \frac{1}{r} m + \frac{1}{r} - \frac{1}{r^2} m + \frac{1}{r^2} = \frac{1}{r} m + \frac{1}{r} - \frac{1}{r^2} m + \frac{1}{r^2}
 \end{aligned}$$

$$\left(\frac{r}{1} \right)^{r^{n-1}} = \left(\frac{1}{\lambda} \right)^{r^n} \Rightarrow \left(\frac{r}{\lambda} \right)^{r^{n-1}} = \left(\left(\frac{r}{\lambda} \right)^r \right)^{r^{n-1}} = \left(\frac{r}{\lambda} \right)^{r^n} \Rightarrow \left(\frac{r}{\lambda} \right)^{r^{n-1}} = \left(\frac{r}{\lambda} \right)^{r^n} \Rightarrow -r^{n-1} = r^n - 1$$

$$\Rightarrow r^{n-1} + r^n - 1 = 0 \Rightarrow n < \frac{-1}{r}$$

$$\Rightarrow \log_{\frac{1}{\lambda}} (r^{n+1}) < \log_{\frac{1}{\lambda}} (-r^n + 1) = \log_{\frac{1}{\lambda}} \frac{1}{r^n} \quad \text{و ج ع} \\
 \log_{\frac{1}{\lambda}} \left(\frac{r}{\lambda} + 1 \right) = \log_{\frac{1}{\lambda}} \frac{r}{\lambda} = \frac{1}{r} \log_{\frac{1}{r}} \frac{r}{r} = \frac{1}{r}$$

$$\begin{aligned}
 \frac{1}{r} (1 + a) &= \frac{1}{r} (\log_{\frac{1}{r}} r + \log_{\frac{1}{r}} \frac{r}{r}) = \frac{1}{r} (\log_{\frac{1}{r}} \frac{r}{r}) = \log_{\frac{1}{\lambda}} \frac{r}{r} = \log_{\frac{1}{\lambda}} \frac{b}{\lambda} \\
 \Rightarrow b, r &\Rightarrow \log_{\frac{1}{\lambda}} (r(r) - 1) = \log_{\frac{1}{\lambda}} 1 = r
 \end{aligned}$$

$$\frac{1}{\alpha + \beta} = \frac{1}{\frac{-b}{-\lambda a}} = \frac{\lambda a}{b} = \log_{\frac{1}{r}} \frac{b + c}{r} = a$$